ST
SvkEov

T
glOog— K K49346
i, =X TWM1610
et i TWM1610-13

‘BB ENDRRIT. I BB MR RN eI EFELZS,
LB —ERClE, FEd -/ MBTNADEBRDHIET .

HUASHIHIAY —






&8

&

EED T3EXIZDNT

L. Eih STHSCOBNE, TRUEE 2 E < 7ZEy,

OF ¥E
@ HinAERE ()
© AR
@ EhinEE
® i K

X HAMEERIHARRES LU, REICHHO
F—LTL— MZERLTVET,

2. o [ — | [ UFozezgLTs
URE S 8
[=] - vl MZ5AEN O DA
BLE 2 12 X B DT

e T A B A TR
UG L7Rv B

3. RHEES) [ i@koTn2 b0, @
Hhh LB, RS D) £ O T, TR
FE CRRRR S ECIHE £

4. fHAESO—IIE, L - By MREDOHR
OEEDID Y F3, THXDOBREITHER 7230,
F iR b RS T W RWERSLE T > MR
FEDFHDRE SHE TV EET,

X OERIRII RIS LY PEL SR - MEEZAR
THIENHY ET

RIERRRDEIGFRIZ DT

R TS AHIER L 2 B EH RO < 7230y,
MRS, 2 BT D 9 & BTN
REICRET D560 00 £7,

Z ORSORHEE S OMHRFER () 13,
ETHH % 9FETY, EL, #aERNTH-
Th, RS OO TERE 2 &2 TR ST
WZIZSEEbH D £

HEER S ORI RIANC I3 EREDOHHEEEIR TH&
TLEIA, HEFEREE TH->TH, Fhinftis
D ZEGED D T A TR L O onT D
MRS ETCWelcE £,

REEIZDULNT

B OUCEITHPEDOIRR & 72 ) £F DT, 177
WL TSN,

o L 7e o B B SRR B 7 B LY M
HEE B2 D851, REEOXEGIMNIR 0 £30
CTIHEELSTEENY,




TWM1610 SvE IRV
FO—/3, D4V L7, REUR

H#T5R

13256-2
065-0005-1001
RER| A & B il R i %k fisi

1 1341560004 Y=Y Re—/CP 1
2 133376000M F>C;28X130 1
3 | 090678000M Uyl iy ; 30X4. 5 2
4 | PC063056 JUEY 6. 3X56 2
5 1324760004 Fo—/XCP 1
6 | KBB-4040B =R RIAXRXTY 7 B 40X44X40 2
7 ONASI JYV—ZR=v7) A PT1,/8 1
8 119766000M EYCP;F40X197 1
9 | 066080100M Ty ¥ 41X3. 2 1
10 | 105943000M Ty 21X97 1
11 NN20 FTAMurFvyhr M20 1
12 | 134946000M R—AYPR—FCP 1
13 | BSZ10035 aBEZFNLE 7T M10X35 2
14 | NSZ10 afXFy bk 8 2¥a2 M10 2
15 | WSA10 NEPFHF 327 M10 2
16 | 119493000M EFYCP; F25X70 1
17 | BSZ10020 aBEZFNLEs 7T M10X20 1
18 | WSA10 NEXPFHF 337 M10 1
19 | 0007022004 28K CP ;350 1
20 | 0008510000 XFyv7;28. 6 1
21 | 000453000M FILEEL 9 1
22 | 1244661004 7 4NV CP 1
23 | 000451000M HIXARNLE 8. 8 M10X25 6
24 | NSP10 aABHHE ANy Fy b 4 M10 6
25 | 124464000M AT — 1
26 | 044098500M Jyiv ;10 1




TWM1610 SvE IRV
FO—/3, D4V L7, REUR

13256-2
065-0005-1001
AHES| B dh & (I T R <N ) %% i
27 | NF10 75 Y9 AurF v b M10O 1
28 | 000738000M UL FEY ;6 1
29 | 1339070000 STARY—ZF~UL; 40 (FrHRLYF) 1
30 | 1330670000 TV FavkA 1 1




TWM1610 SyEVSI<TI Y
Yo7 —Ls

065-0005-1004

&S| & o F 5 s A i [k fisi
1 1255441003 Y7 v 7T —ALCP 1
2 | 0593091000 Ty 2
3 119813000M EYCP;F30X90 2
4 | ONAS1 ) —2=v7)L A PT1,/8 2
5 | BSZ10020 aBEFRLE 7 M10X20 2
6 | WSALO NRPFHF 327 M10 2
7 119788000M Y% 1
8 | BSZ10040 aBFEZFRNLE 7T M10X40 2
9 | NSP10 aBFH ANy TSk 4 M10O 2
10 | 119810000M EYCP; F30X80 1
11 | BSZ10020 aBEZFNLLE 7T M10X20 1
12 | WSA10 NEXPFEHF 337 M10 1
13 | ONAS6 7 —2=v 7L A M6 2
14 | CAP042735 Xyv7 42. 7X3. 5 2
15 | 1198442003 U RALT7—ACP ; R 1
16 | 1195962003 Y rAT7T—ALCP ; L 1
17 | 119805000M EYCP; 25X148 4
18 | 060807100M Ty 4
19 | NN16 JAaF vk M16 4
20 | WRAL6 LI AR M1 6 4
21 | 119808000M FYCP; F25X55 2
22 | BSZ10020 aBEZFRLEs 7 M10X20 2
23 | WSALO NREYPFHF 337 M10 2
24 | 098624000M F ¥ LRIV 4
25 | BSPZ08016 aBHZSWYFHRLE 7 M8X16 4
26 | 0433691000 toFrFarf T L—Fh 2




TWM1610 SyEVSI<TI Y

IL—L

065-0005-1002
RER| A & B s A i %k fisi

1 1285011003 AL T L—ALCP 1
2 1512410003 77 v hCP ; L 1
3 1245010003 AT 7L —ACP ; L 1
4 1244811003 777 FCP ; R 1
5 1245080003 AT 7L —ALCP ; R 1
6 | BZ16055 ALh 8. 8 MI16X55 8
7 | BZ16040 ALE 8. 8 M16X40 12
8 | WSAL6 NEXYPFHF 337 M16 20
9 | NZ16 Jvh 8 232 M16 8
10 © | 1198531003 T o 8—T L —ALCP 1
11 | BZ16045 ALk 8. 8 M16X45 8
12 | NZ16 Jvh 8 2¥= M16 8
13 | WSA16 NEYPFHF 327 M16 8
14 | 060807100M Ty 1
15 | PS080040 ATV 8X 40 1
16 | 11981000M E>CP; F30X80 1
17 | BSZ10020 aBEZFNLEs 7T M10X20 1
18 | WSA10 NEXPFHF 337 M10 1
22 | 1244451003 R— A 8— 1
23 | 044097200M Jviy ;8 2
24 | WSA08 NREPFHFX 327 M8 2
25 | BSZ08016 afHRLE 7T M8X16 2
26 | 8039830003 777 hCP ;U 1
27 | BJ08025 7%y 7B 10. 9 M8 X 25 2
28 | WSA08 NREPFHFX 3327 M8 2
29 | NSZ08 aBFFyh 8 2va M8 2




TWM1610 SyEVSI<TI Y

JL—LA
RER| 5 F B il wn A i i85 fii
30 | 8040080003 F PR R—CP 1
31 | 0006900000 =¥ :M8X14 4
32 | WCR1HO8 PINRXPHR 1v=2vay M8 4
33 | 0009301000 e ; R—150TR (ST v FM54)) 2
34 | 8039860003 77 RCP ; L 1
35 | 8039870003 77 v FCP ; R 1
36 | 8039800003 ZL—k 1
37 | 1247760003 H3— 2
38 | BSZ08016 afFHRNLs 7T M8X16 4
39 | 044097200M Ty 8 4
40 | WSAOS NREYPFHFX 327 M8 4
41 DH XX —ALTL— |k 1
42 | 1203521000 G YL T HAT AT 1
43 | 1249030000 TV FavkA 2 1
44 | 1203560000 TV FavkA 3 1
45 | 1203570000 TV FavukA 4 1
46 | 1285370000 =X ;M8 2
47 | 1061640000 SV AL a1 1
48 | 1064650000 SV A4 ay 51 1
49 | 1065420000 YL A ay 128 1
50 | 1065430000 SV A ay 129 1
51 | 0009360000 Ko7~ ; Y—50100SQS 2
52 | 1257760004 At 1
53 | BSZ08016 aBHRNLE 7T M8X16 2
54 | 044097200M Jviy; 8 2
55 | WSAO8 NEXYPHF 337 M8 2
56 | BSZ08070 aBaFRrh 7 M8XTO0 2
57 | WSAOS NREYPFHF 327 M8 6
58 | WRAOS E 7P HR M8 4
59 | BSZ08025 a ARV 7T M8X25 4




TWM1610 SyEVSI<TI Y

oy

065-0005-1003
AtES) B A % & 1 ST R R ) %% i

1 1245251004 NI X7 CP 2 ®9~17 £f
2 0665530000 Ty 4

3 124564000M A7—; d58X20 2

4 PS100080W AFV ey XTIy 10X80 2

5 PS060080W ATV 7 XTNEAT 6X80 2

6 ONAS1 JYV—A=wT7NV A PT1,/8 2

7 S5C1240 YYw I 12—1,/2 4

3 CK100004 Vo 7Fx—2 10X40PX10L 4

9 0008730004 N7 3 E62X80 4

10 J30206 T—a—=I_X7 ) 7 30206 4

11 J30208 T=\ma—I_X7 )7 30208 4

12 008740000 Uy 40X80 4

13 000712000M ¥y ALty h;M24X1. 5 4

14 PC040032 DB 4X32 4

15 000415000M Frv7 ;62 4

16 0008700000 AV ;M16X1. 5X45 20

17 0008710000 BA—F >y ; M16X1. 5 20

18 0003790000 4% ;10/80—12—6PR 4

19 0003860000 Fa2—7;10/80—12 4

20 000854000C BA—/L; 7. 00X 12 4

21 0008560000 4% (7/73) 10,/80—12—6PR 4 @18~20




TWM1610 SvEVT I Y
T—7)BA—=3, RYan—L

065-0005-1016
RER| A & B s A i 8% fisi

1 1195090004 n—JCP; F 1
2 1195210004 A7valry; 50X49T 1
3 | BSZ10025 aBEZFLs 7T M10X25 4
4 | WSAL0 NRXPFHF 337 M10 4
5 | JUCFL207D1 X7 7a=y UCFL207DI1 4
6 | BZ14045 ALE 8. 8 M14xX45 4
7 | NzZ14 vk 8 2¥=2 M14 12
8 | WSAl4 NEXPFHF 337 M14 12
9 1328520000 =V N 3
10 | 1324830003 F—7LCP 1
11 | 1195160004 n—5CP; RE 1
12 | BZ14055 ALE 8. 8 M14X55 8
13 | 119531000M EYCP;F25X125 1
14 | 119534000M L CP 1
15 | ONA6 JY—2ZA=v 7L A M6 1
16 | ONC6 7)==y 7L C M6 1
17 | NNF10 75V, arFy h M10 2
18 | 060807100M Ty 1
19 | PS080040 2FY T M8X40 1
20 | 1283590003 AT 1
21 | BZ20070 ALE 8.8 M20X70 2
22 | NN20 JTAaF v b M20 2
23 | WRA20 IR M20 4
24 | 126192000M ~)L N4 FCP 1
25 | RB10020 REaxy M10X20 4
26 | WSALO NEPFHF 337 M10 4




TWM1610 SvEVT I Y
T—7)BA—=3, RYan—L

065-0005-1016
&S| & o EF 5 s A i [k fisi

27 | ONB6 7Y —RAR=vy7F/L B M6 1
30 | 128515000M v 7 b 2
31 | BSZ08070 aBLZFL s 7T M8XTO0 4
32 | WRAOS eIV M8 4
33 | NNFO8 75004 rrFy R M8 4
34 | 085137000M Jyi¥ 3 13X3. 2 2
36 | 125519000M Jyi ¥ ;30. 5X4. 5 2
37 | BZ12020 ALEF 8.8 M12xX20 2
38 | WSAL2 NEXPFHFX 337 M1 2 2
39 | 1245120000 AYam—) CP 2 | @54 1+
40 | 119493000M EYCP ; F25X70 1
41 | BSZ10020 aBEFRLEE 7T M10X20 1
42 | WSA10 NEPFHF 337 M10 1
43 | 1283580003 777y N L 1
44 | 1283550003 777y ;R 1
45 | BZ12120 ALE 8.8 M12X120 2
46 | NNF12 TV marFry b M1 2 2
47 | BZ16060 ALh 8.8 M16X60 2
48 | NZ16 Fvh 8 2¥a2 M16 2
49 | WSA16 NEYPFHF 337 M16 2
50 | WRAL6 eI AR M1 6 2
51 | 078063100M T — 2
52 | JUCFL205D1 7Y Ja=yk UCFL205DI1 2
53 | 1328480004 n—7CP 1
54 | 1245120010 AYan—navI iy oS 2




TWM1610 SyEVSI<TI Y

O—5%F%
13261-2
065-0005-1005
&S| & o EF 5 Hoos A i} %k fii =

1 1440760006 a7YE—4 ;MP 160 1 | ®24 1t

2 132816000M A7valry; 50X12T 1 (50cm 17 1 /L)
3 132819000M HZ7— 3 29X%X9 2

4 | BZ12040 ALE 8.8 M12X40 2

5 | Nz12 Fvhk 8 2v=2 MI12 2

6 | WSA12 NRPFHF 327 M12 2

7 132815000M T—HRN—R 1

8 | BZ12030 AL 8. 8 M12X30 2

9 | 040608401M Uy % ; 13X4. 5 1

10 | WSA12 NEPFEHF 327 M12 2

11 | LA50060 n—5Fx—2 50X60L 1

12 | BXI12120 ALE 10. 9 ¥ M12xX120 1

13 [ NZ12 Jvyhk 8 2¥= MI12 1

14 | 1245321004 HR—C P 1

15 | BSPZ08016 aBHZSWYFRLE 7 M8X16 3

16 | 044097200M Ty ;8 3

17 | 1065120000 FYL s A4 ay 98 1

18 | BSZ08020 aBEZFLE 7T M8X20 1

19 | WSA0S NREYPFHFX 327 M8 1

20 | 059313100M W H xR 1

21 | 132817000M A7way b ; 50X15T 1 60cm 1117 4 /LN - FHEE
22 | 132818000M A7vlry; 50X18T 1 (75em 117 ¢ /L « HEsEED
23 | 1330750000 YL FautA b 1

24 | KFC08070320 | ~f awvx— Ugr</Lb 8X7X32 1




TWM1610 SyEVSI<TI Y
O—F—Yav, +—7747—4

A2

Lg/

’
065-0005-1009
&S| & o F 5 il R i %k fi =
1 1241401004 T =LKL ZCP 1
2 1198150003 A7valry; 80X25T 1
3 | BZ12040 AR 8.8 M12xX40 4
4 | WSA12 NRYPFHF 337 M1 2 10
5 124982000M H7—;50. 5X15 1
6 119901000M Ty ; 43X6 1
7| Ws42 AR HFR 297 M4 2 1
8 119900000M AR 1
9 155103100M RA G ATV T 1
10 | TRK06025 6 hARY 10. 9 ZHKRI M6X25 2
11 | NZ06 F>vh 8 2va2 M6 2
12 | WS06 NEXPFHx 227 M6 2
13 | 1241450004 n—75—337—ALCP 2
14 | BZ16045 AL 8.8 M16X45 8
15 | BZ16120 ALE 8.8 M16X120 2
16 | NN16 JAarF v b M16 4
17 | NZ16 Fvh 8 2¥=2 M16 8
18 | 042322200M Tyy¥% ;16 4
19 | WSAl6 NEXYPFHF 337 M16 8
20 | BZ12070 ALE 8.8 M12X70 6
21 | NZ12 Fvh 8 232 M12 6
22 | 124540100M At 1
23 | BSZ08012 aBFAFLE 7T M8X12 4
24 | 044097200M Ty 8 4
25 | 8007451004 vt —77 47 —ALCP 2
26 | BZ16080 ALE 8.8 M16X80 2




TWM1610 SyEVSI<TI Y
O—F—Yav, +—7747—4

[

A2

CF@/

’
065-0005-1009
&S| & o EF 5 s A i [k fi =
27 | WRA16 v I7FAR M1 6 4
28 | 0940350000 HAAFIV L7 40k g f 2
29 | BSZ08020 aBLZFL s 7T M8X20 2
30 | BSZ08025 aBEFLE 7T M8X25 2
31 | NSz08 aBhEZFy b 8 232 MS8 2
32 | WSA08 NEXPFEHX 327 M8 6
33 | NNFO8 750 frrFy R M8 2
34 | 1201850000 XA T T R— 2
35 | 1203530000 Gl T A VA 2
36 | 1065400000 S YL A Al 2
37 | CP03010 +F_Raxy M3X10 2
38 | NAO3 Jv bk 4 232 M3 2
39 | Wso3 NEYPFHFX 237 M3 2
40 | WRAO3 eI X M3 2




TWM1610 SyEVSI<TI Y

T—LORDD
065-0005-1008
RHER| & G & il fh 4 PR % {ii
1 1440770006 a7YE—4 ;MP 250 1
2 1242730003 a7y 7 L—X* 1
3 BZ12035 ALK 8. 8 M12xX35 2
4 WSA12 NEF A+ 337 M1 2 8
5 1197590003 T —F%FX—ZCP 1
6 BZ12050 ALk 8. 8 M12X50 1
7 BZ12055 ALk 8. 8 M12X55 1
8 NNF12 750 arF vk M1 2 2
9 040608401M T 13X4. 5 1
10 | NZ12 Fv Rk 8 232 M12 8
11 | 042783600M Tovx ;12 2
12| 119696000M 2y RCP 1
13 | WRA12 IR M1 2 1
14 | PC032020 7Yy 3. 2X20 1
15 | 0622830000 ~MauF—: T2 (8XT7TX30 i) 2
16 | 1328200003 A7alry h; 80X 19T 1
17 | TRK08020 6 hA%Y 10. 9 ZAI M8X20 2
18 | 059313100M W HF 1
19 | BSZ08020 aFERNLE T M8X20 1
20 | WSAO8 NREPHx 337 MS 1
21 | LA80042 H—5Fx—r 80X42L 1
22 | 1198981003 NG 1
23 | J6210LLU R—nN_7IJ7 6210LLU 2
24 | DHC090 CHHZ AU T7F 90 1
25 | BZ12040 ALE 8.8 M12xX40 4
26 | 1201870003 HA—CP ;1 1




TWM1610 SvEVI I Y
FT—LYRT

065-0005-1008

&S| & o EF 5 s A i [k fisi
27 | BSPZ08020 afFSWYFRHRLE 7 M8X20 8
28 | 044097200M Jviy ;8 12
29 | 1201900003 H3—CP ; 2 1
30 | BSPZ08016 aHFHSWYFRALE 7 M8X16 2
31 | 155273000M TS5y hCP ;A Y s 1
32 | BSPZ08025 aHHSWYFHRLE 7 M8X25 2
33 | 1202251003 H/X—CP 1
34 | 1339780000 STARY—Z7~L; 40 2
35 | WRAL2 ETHHR M1 2 2
36 | 155104000M FAZS S-S R I 1
37 | WRAOS LI Axr M8 2
38 | PC032016 UL 3. 2X16 1
39 | CP03006 +F_axY M3 X6 3
40 | Ws03 NREYPFHFX 237 M3 3




TWM1610 SwEVT Iy
VT RILE

065-0005-1007
&S| & o F 5 s A i [k fisi

1 1194870003 7 v TN Z—CP ; UP 2
2 119440000M FYCP;F25X106 4
3 | NN16 FA4rrF v b M16 4
4 | 060807100M Ty 4
5 | 083995000M Ty ¥ 3 17X45 4
6 1194220003 oy RCP 2
7 1195481003 7T HRNVEL—CP ; LO 2
8 | ONA6 J)—A=v 7L A M6 8
9 119425100M FA 7 2
10 | 119553100M 71—k 2
11 | BSZ08025 ALk 8. 8 M8X25 8
12 | NNFO8 750 fmrFy Rk M8 8
13 | WRAOS eI AR M8 16
14 | 119418000M 7L —hRCP 2
15 | 1198901000 IASL— |k 2
16 | 040588100M 2FY7 A3, 2X21X50 8
17 | NNFO8 7oV nmarry b M8 4
18 | 119442000M E>CP;F16xX35 2
19 | BSZ10020 aBEZFRNLEs 7 M10X20 2
20 | WSALO NEPFHF 337 M10 2
21 | WRA20 IR M20 2
22 | PC040032 JUEL 4X32 2
23 | 1194610003 777 RCP; L 1
24 | 1194620003 777 v RCP; R 1
25 | 119437000M FYCP;F25X116 4
26 | NN16 FAarFy b M16 4




TWM1610 SwEVT Iy
VT RILE

065-0005-1007
RER| A & B 0o 4 i %k fisi
27 | 060807100M Ty 4
28 | 083995000M Ty ¥ ; 17X45 4
29 | BX112040 ALk 10,9 ¥ M12%X40 2
30 | NZ12 Fvh 8 2va2 M12 2
31 | BZ20060 ALE 8.8 M20X60 8
32 | WSA20 NEXPFEHFX 327 M20 8
33 | NZ20 vk 8 2¥=2 M20 8
34 | 1065410000 SV A ay 127 2
35 | 0009350000 B~ R—70100SQS 2




TWM1610 SyEVSI<TI Y
AMUYFIL—L

17

|

@

065-0005-1010
A& & bh & il Hi 4 i} %k fi =

1 1324470004 7579 hCP ; AL vF 2
2 ONB6 J7Y—RA=v 7/ B M6 2
3 132445000M HRAVZCP ; 7 4L 2
4 120122000M Y C;12X100 2
5 WRA12 ETYP AR M1 2 4
6 PC032020 7Yy 3..2X20 4
7 083273000M IN— 2
8 078897100M AT T 2
9 NSP08 af B ATV~ 4 M8 6
10 | 1285370000 =XV ;M8 2
11 | 117374000M HI—:30. 2X45 2
12| 069868000M FHAEEY 12 2
13 | 095375000M EE7. 1 4
14 | J6206LLU AR—N_7U 7 6206LLU 2
15 | DHC062 CHZRAU TF 62 4
16 | J6305LLU AR—N_7VJ 7 6305LLU 4
17 | DCO25 CHHERADU Y7 25 4
18 | 120586000M Py 2
19 | PS050040 2AFY T 5X40 2
20 | 066871100M T — 2
21 | 072005000M 2T T A 2
22 | ONAG JYV—ZA=v7F)L A M6 2
23 | 119848000M 7—ALCP ; 74VA5750 [A] 2
24 | 0333782000 7Y 7 2
25 | 080414100M iy 8 2
26 | NNFO8 750 farF v b M8 2
27 | WRAOS v IR M8 2
28 | 000453000M FIHE L 9 2




TWM1610 SyEVSI<TI Y

ArLyFE—5

1&@

1

1%

7

R

B
i@/ L
=g
/
] 18
1\ H !
o
Q3
}ﬁ?‘irﬁ] 4
7
065-0005-1015
RER| A & B s A i 8% fisi

1 1285670004 ARLyFIZL—ALCP 2
2 1386680000 AL wFr—7CP 4
3 | JPFL203G NAT7FY B PFL203 16
4 | JCS203LLU 2=y haUTY7 CS203LLU 6
5 | BP06012 SWYFHRALE 4. 6 M6X12 4
6 117392000M HT—;17. 5X4 4
7 1386560002 ¥¥ ,M2X27T 2
8 1386570002 ¥ ;M2X43T 2
9 | KFD05050150 | ~fayF%— VUzgbT 5X5X15 4
10 | WRA12 EIHFEHE M1 2 4
11 | WSA12 NEFPHF 39T M1 2 4
12 | NZ12 Fvh 8 2va2 M12 4
13 | 119845000M ZFL— b 2
14 | 1285720004 HAN—CP ; AL yF 2
15 | NNFo8 750 farFy b M8 4
16 | 076487000M ZFL—k 2
17 | 117375000M NT—;26X%X20 2
18 | PS050035 2FYV 7y 5X35 2
19 | 120339000M ZFY 7 H3., 5X20X160 2
20 | BSZ08025 afFERLE 7T M8X25 2
21 | NSZ08 afFFvh 8 2v=2 MS 4
22 | WSAO8 NEXYPHF 337 M8 8
23 | TRK10035 6 FAXY 10. 9 ZARI M10X35 2
24 | 117347000M ZL—k 2
25 | BSZ08020 aFERLE 7T M8X20 4
27 | BZ06020 AL 8.8 M6X20 8




TWM1610 SyEVSI<TI Y

ArLyFE—5
2 Yy’
1 2\ 1o !
Q-
HEFTHR 4
o ">
N
065-0005-1015
RHER| & G & il i 4 PR %k fi
28 | WS06 NP Hx 297 M6 12
29 | NZ06 F+vh 8 232 M6 12
30 | JAS203 2=y FIAYRTYULY AS203 2
31 | 0577451000 A $18—¢8. 5X0. 4 8
32 | CM06020 +HTaxy M6X20 4
33 | 128563000M ZL—k 2
34 | 128564000M ARACP 2
35 | 104800000M ATV 6 2. 9 2
36 | KBB-1208A =Ry RIARTY T A 12X14X8 2
37 | WRAL2 IR M1 2 4
38 | 042783600M Ty 12 2
39 | 085137000M Jyiv 13X3. 2 2
40 | PC032025 JUrr 3. 2X25 2
41 | PS0401025 ATV LTy 4X25 2
42 | WSA10 NP Hx 3347 M10 2
43 | NSZ10 aBf A Fyh 8 23z M10 2




TWM1610 SyEVI<TI Y
ar7vy()

39 39 33

B i#

RER| A & B il R i %k fii
1 CLF40M BT AR PT1,/2 2
2 | 0007781000 NT7x%xv7 ;1,2 2
3 2083-08-06 =7/ PT1,/2XPT3,/8 1
4 | KHO602000BD | =7 ¥YHR—Z 3,/8X2000 S1—S901 1
5 | KHO802100BF | =7 YH—2Z 1,/2X2100 S1—S451 1
6 | 8039810000 TIAFVT 42 VT HE 1
7 | BZ06020 AR 8. 8 M6X20 2
8 | Ws06 NEXFHF 237 M6 2
9 106900000M 77 PF1,/2XPT3,/8 2
10 | 1033-06-08 A—AT)R PF3,/8XPT1,/2 1
11 | 2091-08 T4— PT1,/2 1
12 | KHO603900DP | =7 Y7AR—=A 3,/,8X3900 S901—4 1
13 | KHO803300DP | =7 YA—=A 1,/2X3300 S901—4 1
14 | 1512390000 FLURy 6 E 1
15 | BH05080 Xvv7B 10. 9 M5X80 2
16 | BSZ08020 aFHERNLE T M8X20 2
17 | WSAO8 NREYPFHFX 327 M8 2
18 | 1013-06 A—A=v 7L PF3,/8XPT3,/8 1
19 | 1369190000 TA4NE 1,/2—60u 1
20 | 1035-08 AR—AT)R45 PF1/2XPT1,/2 1
21 | 2091-08 F4— PT1,/2 1
22 | 1009-06-08 R—AFARaxsH— PF3,/8XPT1,/2 1
23 | 124511000M Fxv VT 3,/8 1
24 | 1003440000 A7y b 17 4
25 | 106790000M =v 7NV ;PT3,/8XPF3,/8 1
26 | 106900000M Ty PF1,/2XPT3,/8 2




TWM1610 SyEVI<TI Y

ar7v)

RER| 5 F B il H 4 i i85 fidi
27 | 105166000M 7w PF3,/8XPT3,/8 WA,y Mt 2
28 | 2088-06 AAF AR PT3,/8 1
29 | 106790000M =y 7N ;PT3,/8XPF3,/8 2
30 | 124511000M Frv V7 3,8 1
31 1003440000 HAry b 17 4
32 | 2091-06 74— PT3,/8 1
33 | KH0O600630DP a7YiR—Z% 3,/8X630 S901—4 2
35 | KHO601800BD aT7YAR—A 3,/8X1800 S1—S901 1
36 | 8039810000 TIAF VT 4 VT S HE 1
39 | 4043-10-06 UNF~Z7vy>»” UNF7,/8—14XPT3/8 6
40 | KHO606300BD a7VE—A 3,/8X6300 S1—S901 1
41 | KHO605100BP a7YAR—2Z 3,/8X5100 S1—4 1
42 | 2091-06 74— PT3,/8 1
43 | 2083-06 =v7) PT3,/8 1
44 | 2081-06-04 Ty PT3/8XPT1,/4 1
45 | 2087-06 AAT)LRPT3,/8 1
46 | 106790000M =y 7NV ; PT3,/8XPF3,/8 2
47 | 124511000M Fw I VT 3,8 1
48 | 1003440000 A~ 17 4
49 | 106900000M Ty PF1,/2XPT3,/8 2
50 | 100970000M Ty PF1/4XPT1,/4 1
51 1003430000 HAr vk, 13. 5 1
52 | KH0O400500DE aFVR—A 1,/4X500 S901—S902 1
53 | 1033-06 AR—AT)AR; PF3,/8XPT3,/8 2
54 | 106900000M Ty PF1/2XPT3,/8 2
55 | ILT200 Avvaay XA 4. TX202 -
56 | ILT380 Avvany XA 7. 5X382 -
57 | 0749681000 AL TGNF2—T7 ;500 5
58 | NAOS Fv bk 4 232 M5 2
59 | WS05 NEXPFHR 237 M5 2
60 | KHO406300EP ITVHR—A 1,/4X6300 S902—4 1
61 | 1033-04 A—AT)LAR PF1,/4XPT1,/4 1
62 | 2081-08-04 Ty PT1/2XPT1,/4 1
63 ' | 2088-04 AAFAT)R ; PT1,/4 2
64 | 0005260000 =77 ) —Y 1
65 | KH06000450DP | =7 Y7k —A% 3,/8X450 S901—4 1
66 | NSZ08 afxtyh 8 2va MS 2
67 | WSAOS NEXYPFHF 3327 M8 2
68 | BSZ08070 afFHZRNVE 7T M8XT70 2
69 | 8039880004 777~ Re—n 1
70 | 8039890004 HN—; Ra— 1




\I

TWM1610 SwEVSI TS
a7y (2)

s
I;‘L'l

065-0005-1013
&S| & o EF 5 il R i [k fi =
1 1193500106 YL HZ;CWP60X200%X420 1
2 1035-04 AR—ARATNHR45 PF1/4XPT1,/4 1
3 2086-04 TR PT1,/4 1
4 112531000M 22— H—2 LT 1,/ 4 1
5 1013-04 A—A=y 7 PF1,/4XPT1,/4 1
6 102551000M 77 PF3,/8XPT1,/4 2
7 | KHO403800FP | =7 YA —Z 1,/4X3800 S451—4 1
8 | KHO403900DP | =7 YHR—Z 1,/4X3900 S901—4 1
9 1033-04 A—ATNR PF1,/4XPT1,/4 3
10 | 1035-04 AR—ATNAAR45 PF1,/4XPT1,/4 1
11 | 1193510006 YA CWP30X90X230 2
12 | KH0402900DP | =7 Y7AR—A 1,/4X2900 S901—4 1
13 | KHO402800DP | =7 YA —A 1,/4X2800 S901—4 1
14 | KHO404000DP | =7 YA—A 1,/4X4000 S901—4 1
15 | KH0403900DP | =7 YA—A 1,/4X3900 S901—4 1
16 | 112531000M 20— H—2 LT 1,/ 4 2
17 | 2086-04 TR PT1,/4 2
18 | 119662000M a7 T Ty b 2
19 | BZ06110 ALk 8.8 M6X110 2
20 | NP06 ATV Ty~ M6 2
21 | KHO400650DF | =7 YHA—2A 1,/4X650 S901—S451 1
22 | KH0400650DD | =7 WA —Z 1,/4X650 S901—S901 1
23 | 102551000M T/ PF3,/8XPT1,/4 2
24 | 1033-04 A—AT)R PF1,/4XPT1,/4 4
25 | 1193480106 SYULUE L CWP40X240%X410 2
26 | KH0402600DP | 7 YAHR—Z 1,/4X2600 S901—4 1




TWM1610
aryv(2)

\I

SyELT Ty

42 “

065-0005-1013
RHEES| & dh F 5 1 ST R R ) e i
27 KH0402800DP 2T7VAR—RA 1,/4X2800 S901—4 1
28 KH0403450DP TYHR—A 1,/4X3450 S901—4 1
29 KH0403700DP ZTYHR—A 1,/4X3700 S901—4 1
30 119662000M 2T T Ty b 2
31 KH0400650DF 2TV HR—=A 1,/4X650 S901—S451 1
32 KH0400650DD TR —A 1,/4%X650 S901—-S901 1
33 102551000M 7Ty, PFE3/8XPT1,/4 2
34 1193500106 TIUHFCWP60OX200X420 1
35 1033-04 A—AxT/AR PF1,/4XPT1,/4 2
36 102551000M Ty PF3/8XPT1 /4 2
37 KH0401250FP 2TVAR—A 1,/4X1250 S451—4 1
38 KH0401000DP 2TV —A 1,/4X1000 S901—4 1
39 1193492006 YUH;CWPI90OX290X525 1
40 1033-04 A—Ax)VAKR PF1,/4XPT1,/4 2
41 102551000M Ty PF3/8XPT1,/4 2
42 KH0401900FP TYHR—A 1,/4X1900 S451—4 1
43 KH0402200DP aTVE—A 1,/4X2200 S901—4 1
44 1LT200 Avvany 784 4. 7TX202 —
45 ILT380 Avany XA 7. 5X382 —
46 0749681000 ARATNF2—T ;500 23
47 0009280000 ANy TNVT 1,4 1
48 2086-04 )R 1,/4 1




TWM1610 SvELT Iy
TIY

§" 6 a5—5
&S| & o EF 5 i w4 i % fisi =
1 1350433000 VYR IR 1
2 1204561000 aA— R YUYRy I A 1
3 1309340000 xrFava—F 1
4 1497530000 EAFaRhy I X TWM 1
5 | CP04016 +F_axy M4X16 10
6 | NPO4 ATV TF v b M4 10
7 1204580000 a—R; FUIONU5P 2
8 1204591000 a— R FUPR 3P 1
9 1204541000 a— K ;BT R 1
10 | 1204602000 a—R;p—FYaxsX 1
11 1255600000 BV AL T 1
12| 1203140000 TR, T 1 @27 £+
13 | BZ06016 AL 8. 8 M6X16 2
14 | NPO6 ATV TSy N M6 2
15 | WRAO6 v 7R M6 2
16 | 1543110000 AY YT 1
17 | 1333941000 a— R UxkUY 2
18 | 1333931000 a— R, AT T — A 1
19 | 1110350000 Y =TT 4 AT—H AL T 2
20 | 121690100M 77y N AT 1
21 | BSPZ08020 aBFHZSWYFHELE 7 M8X20 2
22 | 080414100M Jviy ;8 1
23 | 0937320000 Tty 3
24 | 0937330000 toHaww Ry R 4
25 | CM03025 +HT7axry M3X25 4
26 | CP03016 +F7_Raxy M3X16 10




TWM1610 SyEVI<TI Y

T
RHER| 5o & I 2 i) (RS fii =
27 | R-1 NSV N AT AL o F 1 | @122
28 | WRAO3 e IR M3 20
29 | Ws03 NEXYPFHF 237 M3 18
30 | NAO3 Fvhk 4 2¥=2 M3 18
31 | 120626000M FL— |k 4
32 | 1203840000 VA=S NN 2
33 | 1122090000 N7 R 2
34 | 1119720004 At 2
35 | BSPZ08016 aBHZSWYFRARLE 7 M8X16 5
36 | WRAOS v 7R M8 4
37 | 125520000M 77> RCP 2
38 | BSZ10020 aBEZFRLEs 7T M10O0X20 2
39 | BSZ10030 afFERLE 7T M10X30 2
40 | WSA10 NEXPFHFX 337 M10 2
41 | CP04012 +IRaxy M4X12 2
42 | WRAO4 v IR M4 4
43 | 119622000M AAL— 1
44 | NSP10 afF ANy Ty 4 M10 2
45 | 119540000M L—CP 2
46 | NAO4 Fvhk 4 2v=2 M4 2
47 | 0774093000 T va 4
48 | DEO12 EXX R AT 12 2
49 | PC032016 Uy 3. 2X16 2
50 | 119542000M my FCP;180 1
51 | 119544000M 7y RCP ;60 1
52 | NSZ08 afFFyh 8 232 MS 2
53 | 079425000M By 8X32 2
54 | 079424000M T4—7 xR ; 8X32 2
55 | 124634000M AN 1
56 | 124544000M 777k 1
57 | 1345450000 Z—R; 5000 1
58 | 1038750000 TNy JANR— R 10
59 | ILT100 A vaay 7B, 2. 5X100 20
60 | 1249250000 FERNAAL v F 1 | AFvar
61 | WRA16 LIV X M1 6 6
62 | 044098500M Jvix;10 4




i

i % | sS—160803Q |

wILERA

PR E SRR

IMLE R PR

A W 3R PR

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

484-0894

700-0973

861-8030

885-1202

T M EREMLIOG6E 1 F M2

TELO123-26-1123
FAX0123-26-2412

FRWLEEHRHKLIOG L F M2
TELO123-22-5131
FAX0O123-26-2035
RIEHEEMF LS o119 1% H44
TELO162-82-1932
FAXO162-82-1696
WIEWWH 22 &1 THL1I2HFHA4
TELO155-37-3080
FAX0155-37-5187
BEMPEENILET 2 TE16%F 2
TELO153-72-2624
FAX0153-73-2540
ETRASTABENILFMELLE 12053
TELO198-46-1311
FAXO0198-45-5999

B IR A TR B X e A 17 91
TEL022-388-8673
FAX022-388-8735

oA B’ ol d R 2512 -1
TEL0285-49-1500
FAX0285-49-1560
EHMRXILDGTHBEESEBS F I
TEL0568-69-1200
FAX0568-69-1210

L B L I TR 704103
TEL086-243-1147
FAX086-243-1269
FEARBATRX/AMUITLI639-1
TEL 096-389-6650
FAX096-389-8710

IR AT S AT 1003 -2
TEL0986-53-2222
FAX0986-53-2233

. 2 8.

0 8.

35S



